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QUESTION 1

Referring to the exhibit, which command would reduce the size of the OSPF database and corresponding routes? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: A 

 

 

QUESTION 2

A customer recently migrated to IS-IS and is concerned about resource starvation when the routing protocol daemon
(RPD) starts. 

To resolve this issue and protect R2 and R3, which feature should you implement? 

A. Double the policy-options damping half-life timer to let the network settle. 
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B. Implement the overload bit and timer to signal service availability. 

C. Deploy firewall filters to limit the prefix count in the route table. 

D. Use the forwarding-options ip-options-protocol-queue parameter to increase resources. 

Correct Answer: B 

 

QUESTION 3

Referring to the exhibit, which three statements about route 10.222/16 are correct when using the default BGP
advertisement rules? (Choose three) 

A. R1 will prepend AS10 when advertising 10.222/16 to R2. 

B. R2 will prepend AS10 when advertising 10.222/16 to R7. 

C. R2 will advertise 10.222/16 to R4 with itself as the next hop. 

D. R1 will advertise 10.222/16 to R2 with itself as the next hop. 

E. R7 will advertise 10.222/16 to R9 with itself as the next hop. 

Correct Answer: BCE 

 

QUESTION 4
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You have the LDP signaled VPLS topology as shown in the exhibit. CE-B at Site-2 is multihomed to both PE-2 and
PE-3. 

In this scenario, where would you configure loop prevention? 

A. PE-1 

B. CE-B 

C. PE-3 

D. PE-2 

Correct Answer: A 

 

QUESTION 5
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Referring to the exhibit, you want to make ISP1 your preferred connection for inbound and outbound traffic. 

Which two steps will accomplish this task? (Choose two.) 

A. Create an export policy setting local-preference 200 and next-hop self and apply it to the IBGP peers on R2. 

B. Create an export policy to prepend the ASN on advertised routes and apply it to the EBGP peer on R1. 

C. Create an export policy to prepend the ASN on advertised routes and apply it to the EBGP peer on R2. 

D. Create an export policy setting local-preference 200 and next-hop self and apply it to the IBGP peers on R1. 

Correct Answer: CD 
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